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(1) x = y + 2,
dx

dt
=

dy

dt
を方程式に代入

dy

dt
=

y + 2 + t − 2

y + 2 − t − 2
=

y + t

y − t

よって
dy

dt
=

y + t

y − t
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(2) 右辺の分母分子を tで割ると

dx

dt
=

y

t
+ 1

y

t
− 1

同次形

y

t
= uとおくと dy

dt
= t

du

dt
+ u
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t
du

dt
+ u =

u + 1

u − 1

t
du

dt
=

u + 1

u − 1
− u =

−u2 + 2u + 1

u − 1
u − 1

u2 − 2u − 1

du

dt
= −1

t∫
u − 1

u2 − 2u − 1
du = −

∫
dt

t
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u2 − 2u − 1 = vとおくと　 2(u − 1)du = dv

1

2

∫
dv

v
= −

∫
dt

t
1

2
log |v| = − log |t| + C

log |v| + 2 log |t| = 2C

t2v = ±e2C = C ±Cを改めてCとおいた
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t2(u2 − 2u − 1) = C

t2
{(y

t

)2

− 2
y

t
− 1

}
= C

y2 − 2ty − t2 = C

∴ (x − 2)2 − 2t(x − 2) − t2 = C


